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Initially it was secular and now it is sanctified

OVERVIEW

The X3 explains that the reason that w7p7 is 211 by a 1213 ([even] according to '
noY° who maintains *Ip X? WIX°) is because there is a oW M°w; initially it was called
1211 and now it is called wpn. Our moown will explain that by certain Mw7pn there
is no need for the reason of aw: "1°w in order for the wpn to be n.

mooIn anticipates a difficulty:
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Concerning sanctified items for which he is not responsible for their loss, it was
not necessary for the X731 to offer this reason of aw: "11°w, for there is another

reason why it is w7pi, since there is a change of possession here. It is unnecessary
to mention owi MW when there is MW "W, Why then did the X723 mention owa M1w?

mdoINn responds that he mentions oW MW -
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only because he wants to establish this Xn>72 even by a 2wy nRwR? 3392 where he
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! There are two types of N1127p; one is 7211 NMI27p (such as a awR) nXvrn) and the other Mwn mMia1p (like an 721 or
2°now). In Mwa M7y there are (also) two types; a 173 (where one pledges initially to bring a 127 [whether a 79 or
o°now] and later designates a specific animal for the 1277 [this is referred to as *2¥ *177]) and a 7271 (where he initially
donates a specific animal for a 729 [this is referred to as 77 "77]). By 721 m127p and by a 771 if the designated
animal is lost or stolen he is obligated to bring another (he did not fulfill his obligation, whether it is the 7217 of a
nRwn, or his 7171 to bring a 127p). These M127p are referred to as 1n1°X2 21, However by a 7271 if it is lost or stolen
he is not obligated to bring another j27p. He donated specifically this animal and it is here no longer. m271 are
referred to as JN1NR2 20 TR,

* Having responsibility denotes (a certain degree of) ownership. When one loses an item that he owns he suffers a
loss; similarly when he loses something for which he has n1nX. When something is lost which is not yours there is
no loss; similarly as to losing something for which you have no n1nX. When he makes a 7271 it belongs to w7pi; the
original owner retains no interest in this 727 for he carries no NnX on this 127p. It is in the MW of w7pi. Therefore
by designating it as a 127p there is a MW" "1°W; initially it was the owner’s and now it belongs to w7pn. See ‘Thinking
itover’ # 1.

? Everyone agrees that N "W 0 is Ap.

* See “Thinking it over’ # 2.

> Others maintain that this line; 1723%77 — 3"yx1 should appear before the previous line; owx21 — X9X. It is referring
(according to them) to jn1"INR2 217 XY 2WwTp. See (however) 154 77y 7"1K and 1op NIX 1" .

® This expression j2IXIT XN RNOWT J2IRIT XRNN XA is mentioned later in the X, X3 concerning the 2,7y 7wn
where it states that if 711 "7 25Wn 11°% 121 7971 720 2"'ARY WITPM 23 since there was no 7731, for 121 X110 Rpvn. This
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That even though initially (before the w7pn) it was s'32I189 (the thief’s) ox, and

now (after he was w>Tpn it for a owRY nxvn) it is still s'93I18" 0x;’ there was no 1w
mMwA (for he is 1NINR2 27°17), so why is it wIpn?!
$IND W OWN MY DIPN YN

Nevertheless since there is 2w 19w here (for originally it was 1211 and now it is
w7pn), therefore the 233 is 1P and the wWIps is on.

SUMMARY
Being n1127p w7pn for which one is 101°71R2 2717 is considered a nMwn MW

THINKING IT OVER

1. Generally by mwn "W the 1?12 (who buys the stolen object from the 1213) is 1P
through ¥X° and mwa "W (the owner was WX»» and the object was physically
transferred into the possession of the n??). In the case of NdOIN when the 1713 was
wo7pn the 12°1x there was only ¥R, how can the 1213 have the power to make it
w7pi (which would be considered a mwA "11°w) when at this point there was no 1w
*muwn yet?!’

2. Why did noo1n limit his answer to WK nxvn,“’ he should have also mentioned
that own "M1°Y is necessary for 0’771 where he is 1M MR 21 (so there is no MW
mw)?'!

indicates that being w>7pn dos not create a N "11°w. See NMadIN there XNwm 7"7.

7 Since it is 2337 NN (for if 12331 he is obligated to provide another 127p), it is considered as if he owns it.

¥ By own "W it can perhaps be argued that it is being called w7ps (at least by the 1213) and that allows him to be 7P
and it becomes w7p7; however how is there any N 1w (before it becomes w7pi).

? See p MX 1" .

10 See footnote # 4.

" See 157 7w n"nK.
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